N = 0l & AF & F Al A

A FENUXE M
A HAEWUX dASH(AY - SAIL/HEHRL R0 E)

Sl ATHYHUX e % 23 CEEREED
_ _ _ Muo
SA-ZH - S2A(3AH) - MEAME - HES Ofl &4 Oll AF O Blus
FHUXE = 13,089, 185 10,459,538 2,629,647
= 8,478,000
== 4,611,185
FHUUX daSH(A - SAINL/MUHRNKL T2 ) 13,057,600 10,426,178 2,631,422
= 8,478,000
< 4,579,600
ATHAOMUA e X 25 8,982,000 7,067,296 1,914,704
= 7,865,000
< 1,117,000
uxzes =& 35,900 64,600 128,700
201 LerE2gY] 20,000 45,000 125,000
01 Ar22teltl 15,000 40,000 A25,000
oudXZe 22Ag =4 15,000
03 At 5,000 5,000 0
OnNg NUHXZEAS & A 5,000
202 04 H 8,900 9,600 AT700
01 =Y 8,900 9,600 AT00
ofuXEx 2Ege =4 8,900
303 Z&3 7,000 10,000 23,000
01 Z&3 7,000 10,000 A3,000
OUUXIAIY 2aAT 2o 7,000
ATHEOIU X Al&2te] 151,800 170,000 18,200
201 &et2aYl 102,300 120,000 A17,700
01 Atz 2tell 30,000 50,000 220,000
oZHLd AgEHX 2¢ 30,000
02 524l 72,300 70,000 2,300
o2ty SHLH AMEER SN+ - 2 41,700
OEH EHLZLHALAY RAE= 2,700
Oga SHLHE ANEHA FXNE+ - 2 27,900
202 o4l 9,500 10,000 A500
01 =Y 9,500 10,000 £500
OQUTHMMUA 2HAHR =&l 9,500
401 AlEHI L R OHH| 40,000 30,000 10,000
01 Al&H] 40,000 30,000 10,000
OZH5ZLA ANHI Algatc 40,000
AITHAH Ol X & A2 2He| =& 100,300 100,296 4
101 Q44| 30,300 30,296 4
04 JIZHZE2NSE+ 30,300 30,296 4
OQATHAUUA JAI2 Y220 2124| 30,300
OPlL—= 26,796




A RIE=ESN IS PARSEU);

HE: HHUL AASH (MY - FAII/0H XL IRNL)
S ATHAEONUHX e & B3 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
OMIE1:] 1,000
Ogd RE= 2,504
201 B3| 70,000 70,000 0
01 AtR 22/t 45,000 47,000 22,000
OMTHMNUX HAIZ 2K 45,000
02 =223l 25,000 23,000 2,000
OATHHO0 U X &AlZ = X2t 25,000
ATHANUX NLESXE (1) 8,164,000 4,881,000 3,283,000
= 7,865,000
T 299,000
401 Al&HI LS04I 598,000 0 598,000
= 299,000
= 299,000
01 Al&H| 584,000 0 584,000
O EHZE2FA BIPV EHLZEHAIL 584,000
= 292,000
= 292,000
02 Zeldl 9,800 0 9,800
OTHE2AHA BIPV EHS 2L MAIL 9,800
= 4,900
& 4,900
03 Al&Z=204Hl 4,200 0 4,200
O HZE2FA BIPV EHZE M AL 4,200
= 2,100
L= 2,100
403 XXM SA=01d 7,566,000 4,781,000 2,785,000
= 7,566,000
01 RXSHMA2E = 7,566,000 4,781,000 2,785,000
Ott+=HMelZ HHLBUMAL(EH) 369,000
= 369,000
OENES+ZE AHEMAIL(ZLE) 577,000
= 577,000
O=PNMSHE EHESSEAL(ZE) 118,000
= 118,000
OZMZHALMAX M (ENEY) 3,000,000
= 3,000,000
OAMZEA EHSZUTAIL (EX) 161,000
= 161,000
OFUUARA EHSZHLTAIS(EH) 138,000
= 138,000
OSZMHME 2 HYZLTAL(DE) 138,000
= 138,000
Ox=<HPHH ATHMUHUHXIAE(SE) 213,000
= 213,000
Odt=HelZ EBHYBUMAL (L) 254,000
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E=RSR IS PRSESIN);
HEWUK AASH(AY - =A

=0 o \U

CATHAMUEK Y € 25

B . M. CHe (5 HE A /x Al OH HEE Hl =2+

= 254,000

o= LEA () 150,000

= 150,000

ODMZZ S MHS A EfUZEMAIA () 138,000

= 138,000

O2EALEAIL AXI(OH) 2,250,000

= 2,250,000

OFEZIHAATOY EHAZSEAIL(HA) 46,000

= 46,000

OL=X3l2 HLSSEHAE(EHxE) 14,000

= 14,000
ATHANUX HEESAIS (2 E X)) 480,000 787,000 A 307,000
403 XXISHHSA=01H 480,000 787,000 A 307,000
01 MXESHMA=2E R 480,000 787,000 A 307,000

OHYZ=EH 25 XN 480,000
NSHUHX Jl=X& 50,000 70,000 220,000
307 QI2t0l™ 50,000 70,000 A 20,000
02 QItFAE X 50,000 70,000 A 20,000

OXgHUHRX Jl=X& 50,000
X XH& 2el 1,686,100 1,680,882 5,218
JbA - EITAE e K& 97,800 97,800 0
403 XX SHHSA=201H 97,800 97,800 0
01 XXIEMAZ2E X 97,800 97,800 0

OMASS LPIAAAE JiA 37,800

OMASEE EFHIIANE HE> 60,000
sHE MI|S2AY XA (IR EXA) 30,000 6,762 23,238
403 XXIEHHSA=01H 30,000 6,762 23,238
01 AXSMIA2E = 30,000 6,762 23,238

O=s0E HIIZSAME F& 30,000
SAJIA SSHIE A4EEY FA 23,000 30,000 AT7,000
207 A0 | 23,000 30,000 AT7,000
01 ARESH| 23,000 30,000 AT,000

OZ AL SSHIE &4F 9 23,000
SHAME XSS =& 1,500,000 1,500,000 0
501 X3 1,500,000 1,500,000 0
01 22tskt=z 1,500,000 1,500,000 0

OGtAME A =S At 1,500,000
Z22ZZ Y JME ZEEL FH 24,000 32,120 A8,120
201 LBty 12,000 15,000 A 3,000




E=RSR IS PRSESIN);

DEFNUX MdESH(MY - SAIL /00U R R XHRORE)
S E RN S R el

B . M. CHe (5 HlE AL Al OH HEE Hl =2+

03 A2 HI 12,000 15,000 A 3,000
OFE=2YxX 2z s F& 12,000

301 LEtEAZ 12,000 15,000 A 3,000

10 EALAHIZEA S 12,000 15,000 A 3,000
OZ&EzZYx BXU3 EIHA 12,000

SEH HUX =3 - 2l =& 11,300 14,200 A2,900

201 LBt A Y| 1,800 3,200 21,400

01 AtR22lH| 1,000 2,000 A 1,000
Oz=& HUXXAA 2e|l XA 1,000

02 22234l 800 1,200 A400
ogRas Jl& A 800

202 (4 H| 9,500 11,000 A 1,500

01 =LA bI 9,500 11,000 A 1,500
Os8& HUX2el 2HASZS = 9,500

JIZs e =& 1,765,500 1,245,000 520,500
= 613,000
& 1,152,500

SR =HSIHSHRAMEH K& 700,000 800,000 A 100,000

306 %= 700,000 800,000 A 100,000

01 8493 700,000 800,000 A 100,000
O8I Z2HFIUSHRHH 2 & 700,000

JI=HsE 8 =& 32,500 75,000 242,500

202 (4 H| 9,500 10,000 A500

01 =LHOA b 9,500 10,000 A500
OJ =8t ® =& 9,500

301 LEEAZ 13,000 33,000 A 20,000

10 At HIE2& 3 13,000 3,000 10,000
O3 S FAX AHIB4 3,000
Ox==1 JIZFBslu=s ZAR 10,000

307 QI2t0l™ 10,000 20,000 A 10,000

02 2ItBAE X 10,000 20,000 A 10,000
OJl=zgstiis2ad T 10,000

IIZFHESINES 2 ZUAMATA(Z1) 1,033,000 0 1,033,000
= 613,000
& 420,000

201 LBt H| 10,000 0 10,000
= 5,000
& 5,000

01 AtSR2t2ldl 10,000 0 10,000




= ES (S PESE);
DEFNUX MdESH(MY - SAIL /00U R R XHRORE)
CJIEHEHE s A

SN EY O (BH) - MRAY - BLS Aol Bl =2
Gil &t 0

O AEE(OR2IH) 8sX&A 10,000
= 5,000
= 5,000

207 ANy 600,000 0 600,000
= 300,000
& 300,000

01 =S| 600,000 0 600,000
OZEE E=8 NEA FE8HEE WY 200,000
= 100,000
& 100,000
OJI=Hst 2IIAIAH WY 100,000
= 50,000
& 50,000
OJIsHsEEa AHE BEHE T A 200,000
= 100,000
& 100,000
OSME2t NHMERH DIZHS 2LIHE 100,000
= 50,000
& 50,000

306 = 200,000 0 200,000
= 100,000
& 100,000

01 8493 200,000 0 200,000
Ost=2JI=HUHEATRHEYH 2E XA 200,000
= 100,000
& 100,000

307 212t01& 30,000 0 30,000
= 15,000
& 15,000

02 QItBAE X 30,000 0 30,000
OelAEE(Oe2H) EsXE 30,000
= 15,000
= 15,000

308 AUXIHMSOIA 93,000 0 93,000
= 93,000

01 AXNSMBAEEXZ 93,000 0 93,000
O AEE(OR2IH) 8sXA 93,000
= 93,000

403 XXISHHSA=01H 100,000 0 100,000
= 100,000

01 KXIEMAE2E X 100,000 0 100,000
OXNENEZ &#F L UBikeAl2E & 100,000
= 100,000

XN XIATA 2 [ 624,000 433,000 191,000

S22 249 X2 24,000 33,000 A9,000




A FENUXE M
A HAWUX dASH(AY - SAIL/HEHRL R0 E)
2:

ol XIol RAITHA M2 RID (649l &2
SN FB - S2A(3) - MEAY - BES 0] & 08 e HRE2

201 Y2 Y| 8,000 25,000 A7,000

01 AtR2elt| 18,000 25,000 A7,000
OB MYy S=442 18,000

303 T3 6,000 8,000 ~2,000

01 a2 6,000 8,000 A2,000
O0TPY Newy By 6,000

SHEE ZHALYNY S (INHFA) 400,000 400,000 0

307 12+0I A 400,000 400,000 0

02 BABNBE 400,000 400,000 0
oOSs™E Zeay 400,000

ReiSRE - CIXel X HMD A (ZHEIX) 200,000 0 200,000

307 12+0IH 200,000 0 200,000

02 IABNBE 200,000 0 200,000
OXNAEAUE - CIXH JHXIH D 200,000

HHSA AL (FZ 0K ) (OIEHIIEH 31,585 33,360 A1,775

1| 31,585 33,360 A1,775

S22 Il 31,585 33,360 A1,775

201 Y2y 23,425 24,720 A1,295

01 AtR2elt| 23,425 24,720 A1,295
CEVET-WNEEIN] 23,425

202 01| 8, 160 8,640 480

01 2UoIHl 8, 160 8,640 A480

ORAN2E =40 8,160




